03.02.2021
OLI: To use the written method of division

1. 8| 80 3. 8| 88 5.

2. 3| 42 4. 4] 64

Use a ruler to help you set out the written method and complete the calculations.

48 sweets + 4 people =

I

6.

I

/. 36 sweets + 3 people =
I

8.

55 sweets + 5 people =

9. 96 sweets + 8 people =
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10. 88 sweets + 8 people =




EXT:

Complete the calculations below.




7.294 + 6 = 8. 744 + 3 =

9. 1256 + 8 = 10. 1076 + 4 =




11. Grandma Jones had £378 which she shared equally between her 7 grandchildren. How
much money did each grandchild receive?

12. 1134 train passengers are given tickets to sit in 9 different carriages. How many passengers
are in each carriage?




